ION notes

Atoms fit together to form molecules much like puzzle pieces fit together.

The number of valence electrons determines which atoms are able to fit together.

All atoms (except Helium and Hydrogen, which want two in their outer shells) want to have eight electrons in their outer shells.  Atoms will bond with atoms in a way to allow each atom within a molecule to follow the Octet Rule.

In order for atoms to bond, one of four things must occur.

1. An atom loses an electron to another atom.

2. An atom gains an electron from another atom.

3. Atoms share electrons.

4. Atoms “Pool” their electrons.

When an atoms has acquired 8 valence electrons, it becomes stable less reactive (It is happy!)

When an atoms gains or loses an electrons it becomes an ION.

Ions are weird from normal atoms because they now have a charge. (A normal atom has the same number of protons and electrons, giving the atom a neutral charge.)

If an ION has lost an electron it has a positive charge.

If an ION has gained an electron it has a negative charge. 

When a bond is formed between atoms losing and gaining electrons, (NaCl, for example) we call this an IONIC BOND. 
EX: MgCl2 (Draw lewis dot for each to show bonding.)

        MgO

*Remember, atoms lose and gain based on what is “easier” for them. It makes sense!

